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5} The function f (X )= p——— is contimious on

J25-x°
1 [-5.5] B1(-55) 211 YU( | 1Ul5,00)
-5l Bl(-55) d(-e-5)U(5o)  ld] (-o-5]Ui5%)

6) The equation of the line passes through {4 } and {8,-5} is

Gy =—2x+5 [Bly=-2x+11[y=-2-1 @y:—%ﬂ

la| sinx 5] co ] - sinx ld] - cosx
8) The function f (x)=2x 347 is
@ Even l@:{ 0Odd @ Even and odd Neither even nor odd
x +9

9} Find the domain of the functionf (x )=

x2+3x +2

al(—o,0)  [p] RA\{2,1} R\{-2,-1}  [d|R\(-2-1)

.. . 3, 2
10) The critical numbers of the function f (x ) =2x " +9x +12x +2 are

lal 1,2 ]-2,1 ] -2,-1 [d]-12

11} The function f (x ) =2x° +9x >+12x +2 is decreasing on

(x )=2x°+9x " +12x +2 isincreasing on
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(co-)UE) [l (o )U@w) [d] (=-2)U(-L=)
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